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TR 3 HS LOSS OF PROFITS (FIRE) (B 3P : 100)
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not compulsory.

All other questions carries 12 marks each.
In case of dispute in respect of Hindi translation of question, the English version shall be valid.
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Q.1 Write short notes on any three of the following:
a) Indemnity Period

b) Basis of sum to be insured in Loss of Profit (Fire) Policy
c¢) Auditor’s Fees

d) Extension for coverage of damage at Supplier’s Premises
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Q.2. Elaborate any three of the following:
a) Output basis of specification
b) Accumulation of Stocks clause
c) Revenue Policies
d) Standard Turnover
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Briefly explain any three of the followings:

a)
b)
c)
d)

Return of Premium Clause

Savings in Insured’s Standing Charges

Elements of Turnover

Material Damage Proviso in Loss of Profit (Fire) Policy
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Write short notes on any two of the followings:

a)
b)
c)

‘Specification’ under Loss of Profits Policy
Increase in the cost of working
Variation and Special Circumstances
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Elaborate any two of the followings:

a)
b)
c)

Losses not payble in Loss of Profit (Fire) Policy
New Business Clause
Basis Rate
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Distinguish between with examples any two of the followings:

a)
b)
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Net Trading Profit and Gross Profit
Annual Turnover and Standard Turnover
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c) Pro Rata Basis and Dual Basis of Insuring Wages Under Loss Of
Profits Policy
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Discuss the methods of loss assessment as also loss minimisation steps,
adopted by a surveyor in a claim under Loss of Profit (Fire) Policy.
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Evaluate the conditions of the standard Loss of Profit (Fire) Policy.
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Explain the Departmental clause bringing out circumstances under which

such clause will help the customer to obtain proper indemnity under a
Loss of Profits (Fire) Policy
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Q.10. Compute the claim payble based on the data given below on output basis

Policy sum insured Rs. 20,00,000
Policy Period 01.04.2014 to 31.03.2015

Indemnity Period opted 12 Months
Interruption Period 01.07.2014 to 30.09.2014

Actual units produced during Interruption 1,500
period

Standard Output 3,000 units
Annual output during 01.07.2013 to 15,000 units
30.06.2014

Financial data for the year ending on 31.03.2014

Gross Profit (net Profit + standing charges) Rs. 36,00,000
Units produced 12,000
Other details

Increased cost of working Rs. 1,00,000
Additional units produced by increased cost of 750
working

Savings in cost Rs.10,000
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